


0 Circle The shortest tower

§

&) Choose a word to complete the senfence.

( shorter ) ( taller )

The giraffe is Than
the sheep.
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© Circle the longest pencil.
=

[ —
[ ——

©) Dexter is measuring using squares.

How many squares long is the lollipop?

squares

How many squares long is the frog?

squares

How much longer is the lollipop than
the frog?

squares
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6 Draw a Taller tree and a shorter flower

@ )

e Tick The correct sentence.

-

N ——

The Tin is taller than the bottle.

The tin is O squares tall.

The bottle is 2 squares faller
than the Tin.
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&) Ron measures some objects. @@ ‘

-

8 9 10 11 12 13 14 15

The car is

cm long.

=

7 8 9 10 11 12 13 14 15

The bus is

cm long.
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9 Is this True or false?

The train is |12 cm long.

o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

( True ) ( false )
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Answers

JO

@) The giraffe is taller than the sheep.

(3] [

© Y squares

2 squares
2 squares

??%

@ The bottle is 2 squares Jro||er
ol
than the Ttin.

@ The car is 6 cm long.
The bus is & cm long.

9 | False |
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